CITY OF FEDERAL WAY
Project Number: 12525
Bid Opening Date: Wednesday, February 19, 2025
PUBLIC WORKS DEPARTMENT
Project Title: 2025 ASPHALT OVERLAY
BID TABULATION

Bid Opening Date: Wednesday, February 19, 2025

9:00:00 AM
9:00:00 AM

			Bid 1		Bid			Bid 3		id 4		Engineer
Vendor Name> Location			_	ICON MATERIALS Pacific, WA		LAKESIDE INDUSTRIES Covington, WA		ESOURCES allup. Wa		& Sons ma. Wa	Estin	nate
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
SCHEDULE - APPRENTICESHIP												
APPRENTICESHIP INCENTIVE	1	CALC	\$2,000.00	\$2.000.00	\$2,000.00	\$2,000.00	\$2.000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
APPRENTICESHIP PENALTY	-1	CALC	\$2,000.00	(\$2,000.00)	\$2,000.00	-\$2,000.00	\$2,000.00	-\$2,000.00	\$2,000.00	-\$2,000.00	\$2,000.00	(\$2,000.00)
SCHEDULE - APPRENTICESHIP		0,120	\$2,000.00	\$0.00	1 2,000.00	\$0.00	1 2,000.00	\$0.00	V=,000.00	\$0.00	ψ2,000.00	\$0.00
									_			
SCHEDULE - CAMPUS HIGHLANDS WEST	1 4	- FA	¢5 000 001	ΦE 000 00	¢5 000 00	ФГ 000 00	#F 000 00	\$5.000.00	¢5 000 001	ΦE 000 00	#F 000 00	¢ E 000 00
1 MINOR CHANGE 2 ADA FEATURES SURVEYING	1 1	FA 1	\$5,000.00 \$22,800.00	\$5,000.00 \$22,800.00	\$5,000.00 \$25,000.00	\$5,000.00 \$25,000.00	\$5,000.00 \$23,175.00	\$5,000.00	\$5,000.00 \$22,000.00	\$5,000.00 \$22,000.00	\$5,000.00 \$3,000.00	\$5,000.00 \$3,000.00
3 ROADWAY SURVEYING	1	1	\$9,400.00	\$9,400.00	\$11,000.00	\$11,000.00	\$9,555.00	\$9,555.00	\$30,000.00	\$30,000.00	\$3,000.00	\$3,000.00
4 MATERIAL TESTING	1	LS	\$19,470.00	\$19,470.00	\$20,000.00	\$20,000.00	\$5,712.00	\$5,712.00	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00
5 SPCC PLAN	1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$150.00	\$150.00	\$300.00	\$300.00	\$250.00	\$250.00
6 MOBILIZATION	1	LS	\$67,000.00	\$67,000.00	\$55,000.00	\$55,000.00	\$77,730.00	\$77,730.00	\$53,000.00	\$53,000.00	\$145,785.87	\$145,785.87
7 TRAFFIC CONTROL SUPERVISOR	1	LS	\$33,000.00	\$33,000.00	\$50,000.00	\$50,000.00	\$36,000.00	\$36,000.00	\$46,000.00	\$46,000.00	\$35,000.00	\$35,000.00
8 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$3,000.00	\$3,000.00
9 FLAGGERS	1200	HR	\$78.00	\$93,600.00	\$85.00	\$102,000.00	\$72.00	\$86,400.00	\$74.00	\$88,800.00	\$78.00	\$93,600.00
10 OTHER TRAFFIC CONTROL LABOR	100	HR	\$78.00	\$7,800.00	\$85.00	\$8,500.00	\$74.00	\$7,400.00	\$79.00	\$7,900.00	\$80.00	\$8,000.00
11 PORTABLE CHANGING MESSAGE SIGN	240	HR	\$5.00	\$1,200.00	\$6.00	\$1,440.00	\$7.50	\$1,800.00	\$5.00	\$1,200.00	\$80.00	\$19,200.00
12 WORK ZONE SAFETY CONTINGENCY	1	FA	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00	\$6,850.00
13 ROADSIDE CLEANUP	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
14 ASPHALT/CEMENT CONCRETE SAWCUTTING 15 ROADWAY EXCAVATION INCL. HAUL	3200 400	LF CY	\$7.70 \$378.00	\$24,640.00 \$151,200.00	\$7.00 \$625.00	\$22,400.00 \$250,000.00	\$0.01 \$467.00	\$32.00 \$186,800.00	\$2.75 \$50.00	\$8,800.00 \$20,000.00	\$5.00 \$500.00	\$16,000.00 \$200,000.00
16 CRUSHED SURFACING TOP COURSE	10	TN	\$198.00	\$1,980.00	\$200.00	\$2.000.00	\$84.00	\$100,000.00	\$75.00 \$75.00	\$750.00	\$200.00	\$2,000.00
17 PAVEMENT REPAIR EXCAVATION INCL HAUL	250	CY	\$202.00	\$50,500.00	\$165.00	\$41,250.00	\$321.00	\$80,250.00	\$370.00	\$92,500.00	\$180.00	\$45,000.00
18 PLANING BITUMINOUS PAVEMENT	19650	SY	\$5.40	\$106,110.00	\$5.00	\$98,250.00	\$5.60	\$110.040.00	\$3.50	\$68,775.00	\$5.50	\$108,075.00
19 HMA CL. 1/2" PG 58H-22	3400	TN	\$108.00	\$367,200.00	\$130.00	\$442,000.00	\$119.00	\$404,600.00	\$115.00	\$391,000.00	\$100.00	\$340,000.00
20 HMA CL. 1/2" PG 58H-22 FOR PAVEMENT REPAIR	475	TN	\$223.00	\$105,925.00	\$155.00	\$73,625.00	\$228.00	\$108,300.00	\$235.00	\$111,625.00	\$280.00	\$133,000.00
21 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	4	EA	\$6,300.00	\$25,200.00	\$6,000.00	\$24,000.00	\$5,162.00	\$20,648.00	\$6,000.00	\$24,000.00	\$5,500.00	\$22,000.00
22 ADJUST MANHOLE	13	EA	\$1,250.00	\$16,250.00	\$675.00	\$8,775.00	\$1,266.00	\$16,458.00	\$575.00	\$7,475.00	\$850.00	\$11,050.00
23 ADJUST SANITARY SEWER MANHOLE	33	EA	\$1,030.00	\$33,990.00	\$675.00	\$22,275.00	\$1,266.00	\$41,778.00	\$575.00	\$18,975.00	\$850.00	\$28,050.00
24 ADJUST LUD WATER VALVE	19	EA	\$910.00	\$17,290.00	\$490.00	\$9,310.00	\$941.00	\$17,879.00	\$575.00	\$10,925.00	\$550.00	\$10,450.00
25 EROSION/WATER POLLUTION CONTROL	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
26 INLET PROTECTION INSERT	63	EA	\$41.00	\$2,583.00	\$100.00	\$6,300.00	\$84.00	\$5,292.00	\$75.00	\$4,725.00	\$100.00	\$6,300.00
27 SOD INSTALLATION	250	SY	\$30.50	\$7,625.00	\$125.00	\$31,250.00	\$49.00	\$12,250.00	\$69.00	\$17,250.00	\$120.00	\$30,000.00
28 TOPSOIL TYPE 3-WAY MIX	50	SY	\$31.25	\$1,562.50	\$10.00	\$500.00	\$45.00	\$2,250.00	\$235.00	\$11,750.00	\$50.00	\$2,500.00
29 PROPERTY RESTORATION	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
30 CEMENT CONC. CURB & GUTTER 31 CEMENT CONC. PEDESTRIAN CURB	1350 1250	LF LF	\$36.00 \$31.00	\$48,600.00 \$38,750.00	\$36.00 \$32.00	\$48,600.00 \$40,000.00	\$35.85 \$31.35	\$48,397.50 \$39,187.50	\$174.00 \$146.00	\$234,900.00 \$182,500.00	\$56.00 \$52.00	\$75,600.00 \$65,000.00
32 RAISED PAVEMENT MARKER, TYPE 2	0.1	HUN	\$2,760.00	\$276.00	\$1,000.00	\$100.00	\$2,807.00	\$280.70	\$2,700.00	\$162,300.00	\$52.00	\$5.00
33 ADJUST MONUMENT CASE AND COVER	45	EA	\$1,140.00	\$51,300.00	\$905.00	\$40,725.00	\$1,603.00	\$72,135.00	\$575.00	\$25,875.00	\$1,000.00	\$45,000.00
34 CEMENT CONC. SIDEWALK	220	SY	\$100.00	\$22,000.00	\$100.00	\$22,000.00	\$101.00	\$22,220.00	\$213.00	\$46,860.00	\$82.00	\$18,040.00
35 CEMENT CONC. CURB RAMP TYPE PARALLEL A	55	EA	\$2.375.00	\$130.625.00	\$2,450.00	\$134,750.00	\$2,372.00	\$130,460.00	\$2,430.00	\$133,650.00	\$2,500.00	\$137.500.00
36 CEMENT CONC. CURB RAMP TYPE PARALLEL B	2	EA	\$2,375.00	\$4,750.00	\$2,450.00	\$4,900.00	\$2,372.00	\$4,744.00	\$2,430.00	\$4,860.00	\$2,500.00	\$5,000.00
37 PAINT SHARED LANE MARKING	8	EA	\$221.00	\$1,768.00	\$350.00	\$2,800.00	\$224.00	\$1,792.00	\$216.00	\$1,728.00	\$250.00	\$2,000.00
38 PLASTIC CROSSWALK SYMBOL	250	SF	\$17.20	\$4,300.00	\$10.00	\$2,500.00	\$17.35	\$4,337.50	\$16.00	\$4,000.00	\$17.00	\$4,250.00
SCHEDULE - CAMPUS HIGHLANDS WEST - SUBTOTAL				\$1,493,794.50		\$1,629,450.00		\$1,598,583.20		\$1,705,843.00		\$1,641,505.87
SCHEDULE - CAMPUS HIGHLANDS EAST						T				Г		
1 MINOR CHANGE	1	FA	\$5,000,00	\$5,000,00	\$5.000.00	\$5.000.00	\$5,000.00	\$5,000.00	\$5.000.00	\$5,000.00	\$5.000.00	\$5.000.00
2 ADA FEATURES SURVEYING	1	LS	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$16,262.00	\$16,262.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00
3 ROADWAY SURVEYING	1	LS	\$9,400.00	\$9,400.00	\$10,000.00	\$10,000.00	\$9,555.00	\$9,555.00	\$16,000.00	\$16,000.00	\$3,000.00	\$3,000.00
4 MATERIAL TESTING	1	LS	\$16,170.00	\$16,170.00	\$16,000.00	\$16,000.00	\$4,760.00	\$4,760.00	\$10,500.00	\$10,500.00	\$3,000.00	\$3,000.00
5 SPCC PLAN	1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$316.00	\$316.00	\$300.00	\$300.00	\$250.00	\$250.00
6 MOBILIZATION	1	LS	\$50,000.00	\$50,000.00	\$46,700.00	\$46,700.00	\$53,720.00	\$53,720.00	\$42,000.00	\$42,000.00	\$121,967.50	\$121,967.50
7 TRAFFIC CONTROL SUPERVISOR	1	LS	\$23,000.00	\$23,000.00	\$45,000.00	\$45,000.00	\$25,075.00	\$25,075.00	\$36,000.00	\$36,000.00	\$35,000.00	\$35,000.00
8 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$3,500.00	\$3,500.00
9 FLAGGERS	1500	HR	\$78.00	\$117,000.00	\$85.00	\$127,500.00	\$72.00	\$108,000.00	\$74.00	\$111,000.00	\$78.00	\$117,000.00
10 OTHER TRAFFIC CONTROL LABOR	100	HR	\$78.00	\$7,800.00	\$85.00	\$8,500.00	\$74.00	\$7,400.00	\$79.00	\$7,900.00	\$80.00	\$8,000.00
11 PORTABLE CHANGEABLE MESSAGE SIGN	100	HR	\$5.00	\$500.00	\$6.00	\$600.00	\$13.10	\$1,310.00	\$5.00	\$500.00	\$5.00	\$500.00
12 WORK ZONE SAFETY CONTINGENCY	1	FA	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00

CITY OF FEDERAL WAY
Project Number: 12525
Bid Opening Date: Wednesday, February 19, 2025
PUBLIC WORKS DEPARTMENT
Project Title: 2025 ASPHALT OVERLAY
BID TABULATION

Bid Opening Time: 9:00:00 AM
9:00:00 AM

14 ADMINISTRATION CONCRETE SWICHTING 200 V 2770 315,000 310,000 310,000 310,000 310,000 310,000 310,000 311,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,00	Vendor Name> Location			Bid 1 ICON MATERIALS Pacific, WA		Bid 2 LAKESIDE INDUSTRIES Covington, WA		Bid 3 MILES RESOURCES Puyallup, Wa		Bid 4 Tucci & Sons Tacoma, Wa		Estin	Engineer nate
13	Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
14 ADMINISTRATION CONCRETE SWACHTIME 200 V 2770 315,000 310,000 310,000 310,000 310,000 310,000 310,000 311,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,000 310,00	13 ROADSIDE CLEANUP	1											\$3,000.00
15 PRICE AND PRINTED PRINTED 12 12 12 12 12 12 12 1		2000	LF										\$11,000.00
16 CALLES SURF ANN S (DOC COUNTS)		275	CY					\$480.00	\$132,000.00				\$137,500.00
17 PARCESANDER BECAMATON INC. MAIL 140 CV 375.000 334.05.00 320.000 340.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.000 345.	16 CRUSHED SURFACING TOP COURSE	10	TN	\$198.00	\$1,980.00	\$200.00	\$2,000.00	\$83.00		\$75.00		\$200.00	\$2,000.00
19 MAY C. LEP SO MIZE 3200 TN \$394,000 \$115,000 \$374,000 \$115,000 \$380,000 \$100,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320,000 \$320		145	CY	\$235.00		\$225.00		\$251.00					\$26,100.00
20 MAY CL. FF OR SENZY FOR PAYEMENT REPAIR 20 THE SECURATION SENT 1 1 1 1 1 1 1 1 1	18 PLANING BITUMINOUS PAVEMENT	16850	SY	\$5.05	\$85,092.50	\$5.00	\$84,250.00	\$4.90	\$82,565.00	\$3.30	\$55,605.00	\$5.50	\$92,675.00
21 READLAS PER PLACE HAN SPEED HUMP COMPASTE 3 E.A. \$3,850.00 \$10,800.00 \$10,800.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.0	19 HMA CL. 1/2" PG 58H-22	3200	TN	\$107.00	\$342,400.00	\$130.00	\$416,000.00	\$117.00	\$374,400.00	\$115.00	\$368,000.00	\$100.00	\$320,000.00
22 ADJUST MANDELE 9	20 HMA CL. 1/2" PG 58H-22 FOR PAVEMENT REPAIR	300	TN	\$254.00	\$76,200.00	\$155.00	\$46,500.00	\$225.00	\$67,500.00	\$235.00	\$70,500.00	\$280.00	\$84,000.00
22 ADJUST SANTARY SEVER MARFOLE 28 CA \$82000 \$32,780.00 \$11,060.00 \$31,060.00 \$374.00 \$697.00 \$11,000.00 \$374.00 \$375.00 \$11,000.00 \$374.00 \$375.00 \$11,000.00 \$374.00 \$375.00 \$11,000.00 \$374.00 \$375.00 \$11,000.00 \$374.00 \$375.00 \$11,000.00 \$374.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375	21 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	3	EA	\$6,150.00	\$18,450.00	\$6,000.00	\$18,000.00	\$6,052.00	\$18,156.00	\$6,000.00	\$18,000.00	\$5,500.00	\$16,500.00
A HOLD HAPPET PRINCE 9	22 ADJUST MANHOLE		EA			\$675.00							\$6,800.00
28 ADJUST LUD WAT FEW VALVE 24 PA \$800 00 \$12,000 00 \$11,000 00 \$11,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$10,000 00 \$	23 ADJUST SANITARY SEWER MANHOLE	29	EA			\$675.00						\$850.00	\$24,650.00
28 PRODECINA CONTROL													\$420.00
27 NALE PROTECTION NEETT	25 ADJUST LUD WATER VALVE	24	EA	\$930.00	\$22,320.00	\$490.00	\$11,760.00	\$941.00	\$22,584.00	\$575.00	\$13,800.00	\$550.00	\$13,200.00
28 SOL ON FAILLATION	26 EROSION/WATER POLLUTION CONTROL	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
29 TOPPODE TYPE 3WAY MIX 50 57 7 \$33.000 \$33.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000 \$35.0000													\$5,400.00
30 PRIOPERTY RESTORATION 1 FA \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,0													\$17,400.00
31 CEMENT CONC. CURB A QUITTER 1000		50											\$2,500.00
22 CEMENT CONC. PEDESTRIAN CURB 750 LF \$31,00 \$32,000 \$32,000 \$34,000 \$1,385 \$23,515.00 \$37,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000 \$31,000		<u> </u>										\$3,000.00	\$3,000.00
33 RASED PAYEMENT MARKER, TYPE 2													\$56,000.00
34 ADJIST MONUMENT CASE AND COVER 16.0 EA \$995.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00 \$10,600.00													
SECENTIFICATION SECOND S	· · · · · · · · · · · · · · · · · · ·												\$935.00
Second Course Ramp Pype Parallele 39													\$16,000.00
37 CEMENT COMC. CUBR RAMP TYPE PARALLEL B													\$13,530.00
38 URITY ADJUSTMENT 24 EA \$1,250.00 \$30,000.00 \$30,000.00 \$1,250.00 \$1,260.00 \$3,84.00 \$575.00 \$13,800.00 \$8,900.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$8,864.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.0		39	EA									\$2,500.00	\$97,500.00
38 DETECTION LOOPS													\$2,500.00
40 PANT LINE													
41 PANTED WIDE LINE													\$7,000.00
42 PLASTIC STOP LINE													
43 PANTED SHARED LANE MARKING 20													\$500.00
44 PANTED TRAFFIC ARROW 2													
SCHEDULE - 12TH AVE SW S													
46 TEMPORARY PAVEMENT MARKING - SHORT DURATION 4000 LF \$0.50 \$2,000.00 \$0.50 \$2,000.00 \$1.12 \$4.480.00 \$0.55 \$1,000.00 \$5.00 \$5.20.00 \$6.00 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$1.													
47 TEMPORARY STOP LINE - SHORT DURATION 25 LF \$1.88 \$47.00 \$2.00 \$50.00 \$50.00 \$50.00 \$51.293,074.80 \$1.293,074.80 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.394,361.00 \$1.													
SCHEDULE - CAMPUS HIGHLANDS EAST - SUBTOTAL S1,250,303.00													
SCHEDULE - 12TH AVE SW 1		25	LF	\$1.88				\$22.40		\$50.00		\$6.00	
1 MINOR CHANGE	SCHEDULE - CAMPUS HIGHLANDS EAST - SUBTOTAL				\$1,250,303.00		\$1,383,190.00		\$1,293,074.80		\$1,304,361.00		\$1,345,992.50
1 MINOR CHANGE													
2 ADA FEATURES SURVEYING				45.000.00	45.000.00	*= ***	AT 000 00	*= ***	* = 000 00	45.000.00	AT 000 00		AT 000 00
3 ROADWAY SURVEYING		<u> </u>										1 - 1	
4 MATERIAL TESTING 1 LS \$15,510.00 \$15,510.00 \$20,000.00 \$20,000.00 \$3,808.00 \$38,080.00 \$12,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000		 											
SPCC PLAN 1		<u> </u>					, ,						
6 MOBILIZATION 1 LS \$88,000.00 \$86,000.00 \$57,000.00 \$70,711.00 \$30,000.00 \$30,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160,000.00 \$160		<u> </u>											
7 TRAFFIC CONTROL SUPERVISOR 1 LS \$31,500.00 \$31,500.00 \$40,000.00 \$33,430.00 \$33,430.00 \$40,000.00 \$40,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,00		· ·											
8 FLAGGERS 800 HR \$78.00 \$62,400.00 \$85.00 \$68,000.00 \$72.00 \$57,600.00 \$74.00 \$59,200.00 \$75.00 \$60,000.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00 \$70.00		<u> </u>											
9 OTHER TRAFFIC CONTROL LABOR 40 HR \$78.00 \$3,120.00 \$85.00 \$3,400.00 \$74.00 \$2,960.00 \$79.00 \$3,160.00 \$75.00 \$3,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,00							1 .,						
10 PORTABLE CHANGEABLE MESSAGE SIGN 240 HR \$5.00 \$1,200.00 \$6.00 \$1,440.00 \$7.00 \$1,680.00 \$5.00 \$1,200.00 \$7.00 \$1,680.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,500.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00													
1													
12 WORK ZONE SAFETY CONTINGENCY 1 FA \$6,500.00 \$6,500.00 \$6,500.00 \$6,500.00 \$6,500.00 \$6,500.00 \$6,500.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$13 ROADSIDE CLEANUP 1 FA \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,													
13 ROADSIDE CLEANUP 1 FA \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,00		<u> </u>											
14 REMOVE EXISTING CATCH BASIN 1 EA \$900.00 \$900.00 \$3,000.00 \$775.00 \$275.00 \$275.00 \$1,200.00 \$1,200.00 15 SAWCUTTING 4,200 LF \$7.70 \$32,340.00 \$7.00 \$29,400.00 \$0.01 \$42.00 \$2.75 \$11,550.00 \$5.00 \$21,000.00 16 ROADWAY EXCAVATION INCL. HAUL 450 CY \$337.00 \$151,650.00 \$650.00 \$292,500.00 \$458.00 \$206,100.00 \$50.00 \$22,500.00 \$300.00 \$135,000.0 17 CRUSHED SURFACING TOP COURSE 10 TN \$198.00 \$1,980.00 \$200.00 \$2,000.00 \$830.00 \$75.00 \$75.00 \$75.00 \$75.00 \$75.00 \$120.00 \$300.00 \$130.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00<		<u> </u>											
15 SAWCUTTING 4,200 LF \$7.70 \$32,340.00 \$7.00 \$29,400.00 \$0.01 \$42.00 \$2.75 \$11,550.00 \$5.00 \$21,000.00 16 ROADWAY EXCAVATION INCL. HAUL 450 CY \$337.00 \$151,650.00 \$650.00 \$292,500.00 \$458.00 \$206,100.00 \$50.00 \$22,500.00 \$135,000.0 17 CRUSHED SURFACING TOP COURSE 10 TN \$198.00 \$1,980.00 \$20.00 \$20.00 \$830.00 \$75.00 \$750.00 \$750.0 18 HMA CL. 1/2" PG 58H22 2,900 TN \$102.00 \$295,800.00 \$130.00 \$377,000.00 \$135.00 \$368,150.00 \$104.00 \$301,650.00 \$240.00 \$248,000.0 19 HMA FOR PAVEMENT REPAIR CL.1/2" PG 58H-22 910 TN \$150.00 \$136,500.00 \$316.00 \$216,600 \$235.00 \$213,850.00 \$214,000.0 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00 \$217,000.00<		<u> </u>											\$1,200.00
16 ROADWAY EXCAVATION INCL. HAUL 450 CY \$337.00 \$151,650.00 \$650.00 \$292,500.00 \$458.00 \$206,100.00 \$50.00 \$22,500.00 \$135,000.0 17 CRUSHED SURFACING TOP COURSE 10 TN \$198.00 \$1,980.00 \$200.00 \$2,000.00 \$830.00 \$75.00 \$75.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00<													\$21,000.00
17 CRUSHED SURFACING TOP COURSE 10 TN \$198.00 \$1,980.00 \$2,000.00 \$2,000.00 \$830.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00 \$750.00													\$135,000.00
18 HMA CL. 1/2" PG 58H22 2,900 TN \$102.00 \$295,800.00 \$130.00 \$377,000.00 \$123.50 \$358,150.00 \$104.00 \$301,600.00 \$120.00 \$348,000.00 19 HMA FOR PAVEMENT REPAIR CL.1/2" PG 58H-22 910 TN \$150.00 \$155.00 \$141,050.00 \$216.00 \$196,560.00 \$235.00 \$213,850.00 \$218,400.00 20 PAVEMENT REPAIR EXCAVATION INCL. HAUL 450 CY \$150.00 \$67,500.00 \$200.00 \$90,000.00 \$360.00 \$137,700.00 \$380.00 \$171,000.00 \$350.00 \$157,500.0													\$750.00
19 HMA FOR PAVEMENT REPAIR CL.1/2" PG 58H-22 910 TN \$150.00 \$136,500.00 \$141,050.00 \$216.00 \$196,560.00 \$235.00 \$213,850.00 \$240.00 \$218,400.0 20 PAVEMENT REPAIR EXCAVATION INCL. HAUL 450 CY \$150.00 \$67,500.00 \$200.00 \$90,000.00 \$360.00 \$137,700.00 \$380.00 \$171,000.00 \$350.00 \$157,500.0													\$348,000.00
20 PAVEMENT REPAIR EXCAVATION INCL. HAUL 450 CY \$150.00 \$67,500.00 \$200.00 \$90,000.00 \$306.00 \$137,700.00 \$380.00 \$171,000.00 \$350.00 \$157,500.0													\$218,400.00
		450	CY	\$150.00									\$157,500.00
		14,000		\$6.10		\$6.00		\$3.90		\$4.30		\$6.00	\$84,000.00

CITY OF FEDERAL WAY
Project Number: 12525
PUBLIC WORKS DEPARTMENT
Project Title: 2025 ASPHALT OVERLAY
BID TABULATION
BId Opening Date: Wednesday, February 19, 2025
Bid Opening Time: 9:00:00 AM

Vendor Name Location			Bid 1 ICON MATERIALS Pacific, WA		Bid : LAKESIDE INI Covingtor	DUSTRIES	MILES RE	id 3 ESOURCES lup, Wa	Bid 4 Tucci & Sons Tacoma, Wa		Estin	Engineer nate
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
22 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	4	EA	\$6,300.00	\$25,200.00	\$6,000.00	\$24,000.00	\$5,174.00	\$20,696.00	\$6,000.00	\$24,000.00	\$10,000.00	\$40,000.00
23 REMOVE AND REPLACE RAISED CROSSWALK, COMPLETE	1	EA	\$12,100.00	\$12,100.00	\$10,000.00	\$10,000.00	\$7,900.00	\$7,900.00	\$6,800.00	\$6,800.00	\$15,000.00	\$15,000.00
24 DUCTILE IRON STORM SEWER PIPE 12 IN. DIAM	100	LF	\$468.00	\$46,800.00	\$250.00	\$25,000.00	\$303.00	\$30,300.00	\$210.00	\$21,000.00	\$100.00	\$10,000.00
25 ADJUST MANHOLE	2	EA	\$1,250.00	\$2,500.00	\$675.00	\$1,350.00	\$1,266.00	\$2,532.00	\$575.00	\$1,150.00	\$1,400.00	\$2,800.00
26 NON-SLIP MMA COATING FOR LIDS	1	LS	\$57.00	\$57.00	\$1,500.00	\$1,500.00	\$2,856.00	\$2,856.00	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00
27 CATCH BASIN TYPE 1	5	EA	\$1,940.00	\$9,700.00	\$3,600.00	\$18,000.00	\$2,620.00	\$13,100.00	\$2,400.00	\$12,000.00	\$2,500.00	\$12,500.00
28 ADJUST WATER VALVE TO GRADE	15	EA	\$820.00	\$12,300.00	\$490.00	\$7,350.00	\$941.00	\$14,115.00	\$575.00	\$8,625.00	\$1,200.00	\$18,000.00
29 ADJUST SANITARY SEWER MANHOLE	13	EA	\$810.00	\$10,530.00	\$675.00	\$8,775.00	\$1,266.00	\$16,458.00	\$575.00	\$7,475.00	\$1,200.00	\$15,600.00
30 EROSION CONTROL AND WATER POLLUTION PREVENTION	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$3,000.00	\$3,000.00	\$1,100.00	\$1,100.00
31 TOPSOIL TYPE 3-WAY MIX	250	SY	\$13.00	\$3,250.00	\$10.00	\$2,500.00	\$44.50	\$11,125.00	\$260.00	\$65,000.00	\$50.00	\$12,500.00
32 SEEDED LAWN INSTALLATION	100	SY	\$12.40	\$1,240.00	\$10.00	\$1,000.00	\$6.65	\$665.00	\$12.00	\$1,200.00	\$50.00	\$5,000.00
33 BARK OR WOOD CHIP MULCH	150	SY	\$9.40	\$1,410.00	\$10.00	\$1,500.00	\$27.00	\$4,050.00	\$45.00	\$6,750.00	\$50.00	\$7,500.00
34 PROPERTY RESTORATION	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
35 CEMENT CONC. TRAFFIC CURB AND GUTTER	2,000	LF	\$36.00	\$72,000.00	\$36.00	\$72,000.00	\$35.85	\$71,700.00	\$108.00	\$216,000.00	\$50.00	\$100,000.00
36 CEMENT CONC. PEDESTRIAN CURB	1,675	LF	\$31.00	\$51,925.00	\$32.00	\$53,600.00	\$31.35	\$52,511.25	\$74.00	\$123,950.00	\$40.00	\$67,000.00
37 RAISED PAVEMENT MARKER TYPE 2	4.7	HUN	\$1,270.00	\$5,969.00	\$1,000.00	\$4,700.00	\$1,288.00	\$6,053.60	\$1,200.00	\$5,640.00	\$1,000.00	\$4,700.00
38 MONUMENT CASE AND COVER	1	EA	\$1,180.00	\$1,180.00	\$675.00	\$675.00	\$662.00	\$662.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
39 ADJUST MONUMENT CASE AND COVER	18	EA	\$1,010.00	\$18,180.00	\$905.00	\$16,290.00	\$1,603.00	\$28,854.00	\$575.00	\$10,350.00	\$750.00	\$13,500.00
40 CEMENT CONC. CURB RAMP TYPE A PARALLEL	53	EA	\$2,375.00	\$125,875.00	\$2,450.00	\$129,850.00	\$2,372.00	\$125,716.00	\$2,300.00	\$121,900.00	\$2,500.00	\$132,500.00
41 CEMENT CONC. CURB RAMP TYPE B PARALLEL	1	EA	\$2,375.00	\$2,375.00	\$2,450.00	\$2,450.00	\$2,372.00	\$2,372.00	\$2,300.00	\$2,300.00	\$2,500.00	\$2,500.00
42 CEMENT CONC. SIDEWALK	250	SY	\$100.00	\$25,000.00	\$100.00	\$25,000.00	\$101.00	\$25,250.00	\$142.00	\$35,500.00	\$80.00	\$20,000.00
43 DETECTABLE WARNING SURFACE	35	SF	\$68.20	\$2,387.00	\$70.00	\$2,450.00	\$83.00	\$2,905.00	\$85.00	\$2,975.00	\$50.00	\$1,750.00
44 BLACK DETECTABLE WARNING SURFACE	100	SF	\$68.20	\$6,820.00	\$70.00	\$7,000.00	\$83.00	\$8,300.00	\$85.00	\$8,500.00	\$50.00	\$5,000.00
45 PERMANENT SIGNING	1	LS	\$550.00	\$550.00	\$2,500.00	\$2,500.00	\$560.00	\$560.00	\$2,800.00	\$2,800.00	\$2,000.00	\$2,000.00
46 PAINT LINE	9600	LF	\$1.66	\$15,936.00	\$0.75	\$7,200.00	\$1.68	\$16,128.00	\$1.60	\$15,360.00	\$3.00	\$28,800.00
47 PLASTIC STOP LINE	90	LF	\$33.00	\$2,970.00	\$15.00	\$1,350.00	\$33.70	\$3,033.00	\$32.00	\$2,880.00	\$40.00	\$3,600.00
48 PLASTIC CROSSWALK LINE	500	SF	\$17.05	\$8,525.00	\$10.00	\$5,000.00	\$17.40	\$8,700.00	\$16.00	\$8,000.00	\$20.00	\$10,000.00
49 PAINTED BICYCLE LANE SYMBOL	11	EA	\$220.00	\$2,420.00	\$350.00	\$3,850.00	\$224.50	\$2,469.50	\$215.00	\$2,365.00	\$250.00	\$2,750.00
50 TEMPORARY PAVEMENT MARKING - SHORT DURATION	9600	LF	\$0.55	\$5,280.00 \$159.50	\$0.50	\$4,800.00	\$0.39 \$52.00	\$3,744.00	\$0.40 \$0.40	\$3,840.00	\$2.00	\$19,200.00 \$1,650.00
51 TEMPORARY MISC. PAVEMENT MARKING - SHORT DURATION 52 TEMPORARY STOP LINE - SHORT DURATION	90	EA LF	\$14.50 \$2.00	\$180.00	\$10.00 \$2.00	\$110.00 \$180.00	\$8.40	\$572.00 \$756.00	\$0.40	\$4.40 \$36.00	\$150.00 \$8.00	\$720.00
53 TEMPORARY CROSSWALK LINE - SHORT DURATION	500	SF	\$2.00	\$1,175.00	\$3.00	\$1,500.00	\$2.24	\$1,120.00	\$0.40	\$200.00	\$4.00	\$2,000.00
SCHEDULE - 12TH AVE SW - SUBTOTAL	500	SF	\$2.35	\$1,493,043.50		\$1,719,120.00	\$2.24	\$1,120.00 \$1,668,383.35	\$0.40	\$1,712,785.40	\$4.00	\$2,000.00
SCHEDULE - 12TH AVE SW - SUBTOTAL				\$1,493,043.50		\$1,719,120.00		\$1,000,303.35		\$1,/12,/85.40		\$1,797,950.00
F											F	
SCHEDULE SCARBOROUGH	1.	T=-			*							
1 MINOR CHANGE	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00 \$	5,000.00	\$5,000.00
2 ADA FEATURES SURVEYING	1	LS	\$9,600.00	\$9,600.00	\$11,000.00	\$11,000.00	\$9,758.00	\$9,758.00	\$9,400.00	\$9,400.00 \$	3,000.00	\$3,000.00
3 ROADWAY SURVEYING	1	LS	\$5,500.00	\$5,500.00	\$5,500.00	\$5,500.00	\$3,965.00	\$3,965.00	\$10,000.00	\$10,000.00 \$	3,000.00	\$3,000.00
4 MATERIAL TESTING	1	LS	\$13,200.00	\$13,200.00	\$13,000.00	\$13,000.00	\$2,856.00	\$2,856.00	\$5,600.00	\$5,600.00 \$	3,000.00	\$3,000.00
5 SPCC PLAN	1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$315.00	\$315.00	\$300.00	\$300.00 \$	250.00	\$250.00
6 MOBILIZATION	1	LS	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$49,500.00	\$49,500.00	\$23,000.00	\$23,000.00 \$	75,000.00	\$75,000.00
7 TRAFFIC CONTROL SUPERVISOR	1	LS	\$12,900.00	\$12,900.00	\$25,000.00	\$25,000.00	\$21,215.00	\$21,215.00	\$17,000.00	\$17,000.00 \$	25,000.00	\$25,000.00
8 FLAGGERS	300	HR	\$78.00	\$23,400.00	\$85.00	\$25,500.00	\$72.00	\$21,600.00	\$74.00	\$22,200.00 \$	75.00	\$22,500.00
9 OTHER TRAFFIC CONTROL LABOR	30	HR	\$78.00	\$2,340.00	\$85.00	\$2,550.00	\$74.00	\$2,220.00	\$79.00	\$2,370.00 \$	75.00	\$2,250.00
10 PORTABLE CHANGEABLE MESSAGE SIGN	240	HR	\$5.00	\$1,200.00	\$6.00	\$1,440.00	\$7.00	\$1,680.00	\$5.00	\$1,200.00 \$	5.00	\$1,200.00
11 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	\$6,000,00	\$6,000,00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$1,600,00	\$1,600.00 \$	5,000.00	\$5,000.00
12 WORK ZONE SAFETY CONTINGENCY	1	FA	\$2.800.00	\$2,800.00	\$2,800.00	\$2.800.00	\$2.800.00	\$2.800.00	\$2.800.00	\$2,800.00 \$	2.800.00	\$2,800.00
	1	FA	, ,			1 /	, ,	1 1	, ,		3,000.00	, ,
13 ROADSIDE CLEANUP 14 SAWCUTTING	1 200	LF	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00 \$	5.00	\$3,000.00
	1,200		\$7.70	\$9,240.00	\$7.00	\$8,400.00	\$0.01	\$12.00	\$2.75	\$3,300.00 \$		\$6,000.00
15 ROADWAY EXCAVATION INCL. HAUL	1,200	CY	\$106.50	\$127,800.00	\$200.00	\$240,000.00	\$125.50	\$150,600.00	\$54.00	\$64,800.00 \$	60.00	\$72,000.00
16 CRUSHED SURFACING TOP COURSE	450 900		\$77.50	\$34,875.00	\$55.00	\$24,750.00	\$50.00	\$22,500.00	\$62.00	\$27,900.00 \$	80.00	\$36,000.00
17 CRUSHED SURFACING BASE COURSE 18 HMA CL. 1/2" PG 58H-22	1.700	TN	\$73.00 \$113.00	\$65,700.00	\$55.00	\$49,500.00	\$57.00 \$119.00	\$51,300.00	\$56.00	\$50,400.00 \$	65.00 125.00	\$58,500.00
18 HMA CL. 1/2" PG 58H-22 19 PLANING BITUMINOUS PAVEMENT	1,700 8.750	SY		\$192,100.00	\$130.00	\$221,000.00	\$119.00 \$4.10	\$202,300.00	\$112.00 \$4.00	\$190,400.00 \$		\$212,500.00
20 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	8,750	EA	\$6.00 \$6.700.00	\$52,500.00 \$13.400.00	\$5.00 \$6.000.00	\$43,750.00 \$12.000.00	\$4.10	\$35,875.00 \$10.300.00	\$4.00	\$35,000.00 \$ \$12.000.00 \$	5.00 5,500.00	\$43,750.00 \$11.000.00
21 HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 58H-22	400	TN	\$6,700.00	\$13,400.00 \$73,200.00	\$6,000.00 \$155.00	\$12,000.00 \$62,000.00	\$5,150.00	\$10,300.00 \$82,400.00	\$6,000.00	\$12,000.00 \$	125.00	\$11,000.00
22 DUAL WALL HDPE STORM SEWER PIPE 15 IN. DIAM.	53	LF	\$183.00	\$13,200.00	\$155.00	\$8,480.00	\$206.00	\$17,914.00	\$220.00	\$10,176.00 \$	200.00	\$50,000.00
23 ADJUST CATCH BASIN	2	EA	\$1,250.00	\$2,500.00	\$675.00	\$1,350.00	\$1,266.00	\$2,532.00	\$192.00	\$10,176.00 \$	1,250.00	\$2,500.00
בטןאטטטז טאזטח פאסווי	14	ICA	φ1,250.00	φΖ,500.00	φ0/0.00	φ1,350.00	φ1,∠00.00	φ∠,53∠.00	φυ/ 5.00	φ1,100.00[\$	1,200.00	φ∠,500.00

CITY OF FEDERAL WAY Project Number: 12525 Bid Opening Date: Wednesday, February 19, 2025
PUBLIC WORKS DEPARTMENT Project Title: 2025 ASPHALT OVERLAY Bid Opening Time: 9:00:00 AM
BID TABULATION

Vendor Name> Location>			ICON N	Bid 1 MATERIALS iffic, WA	Bio LAKESIDE II Covingt	NDUSTRIES	Bid 3 MILES RESOURCES Puyallup, Wa		Bid 4 Tucci & Sons Tacoma, Wa		Estim	Engineer ate
ltem	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
24 ADJUST WATER VALVE TO GRADE	6	EA	\$860.00	\$5,160.00	\$675.00	\$4,050.00	\$941.00	\$5,646.00	\$575.00	\$3,450.00 \$	950.00	\$5,700.00
-	13	EA	\$1,050.00	\$13,650.00	\$675.00	\$8,775.00		\$16,458.00	\$575.00	\$7,475.00 \$	1,150.00	\$14,950.00
26 MODULAR WETLAND UNIT	1	EA	\$71,000.00	\$71,000.00	\$80,000.00	\$80,000.00		\$73,205.00	\$67,000.00	\$67,000.00 \$	75,000.00	\$75,000.00
27 EROSION CONTROL AND WATER POLLUTION PREVENTION	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$3,500.00	\$3,500.00 \$	2,000.00	\$2,000.00
28 SOD INSTALLATION	5	SY	\$30.40	\$152.00	\$250.00	\$1,250.00	\$200.00	\$1,000.00	\$68.00	\$340.00 \$	250.00	\$1,250.00
	50	SY	\$31.40	\$1,570.00	\$10.00	\$500.00	\$45.00	\$2,250.00	\$260.00	\$13,000.00 \$	50.00	\$2,500.00
30 BARK OR WOOD CHIP MULCH	5	SY	\$12.00	\$60.00	\$50.00	\$250.00	\$200.00	\$1,000.00	\$110.00	\$550.00 \$	250.00	\$1,250.00
31 PROPERTY RESTORATION	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00 \$	2,000.00	\$2,000.00
	920 50.00	LF	\$36.00 \$31.00	\$33,120.00 \$1,550.00	\$36.00 \$32.00	\$33,120.00 \$1,600.00	\$35.85 \$31.35	\$32,982.00 \$1,567.50	\$62.00 \$600.00	\$57,040.00 \$ \$30,000.00 \$	45.00 55.00	\$41,400.00 \$2,750.00
34 RAISED PAVEMENT MARKER TYPE 2	1	HUN	\$1,270.00	\$1,270.00	\$1,000.00	\$1,000.00	\$1,288.00	\$1,288.00	\$1,200.00	\$1,200.00 \$	1,500.00	\$2,750.00
	16	EA	\$1,270.00	\$19,040.00	\$1,000.00	\$1,000.00		\$25.648.00	\$575.00	\$9,200.00 \$	1,500.00	\$1,500.00
	72	SY	\$100.00	\$7,200.00	\$100.00	\$7,200.00	\$101.00	\$7,272.00	\$650.00	\$46.800.00 \$	75.00	\$5,400.00
	21	EA	\$2,375.00	\$49,875.00	\$2,450.00	\$51,450.00	\$2,372.00	\$49,812.00	\$2,800.00	\$58,800.00 \$	3,000.00	\$63,000.00
38 CEMENT CONC. CURB RAMP TYPE PARALLEL B	3	EA	\$2,375.00	\$7,125.00	\$2,450.00	\$7,350.00	\$2,372.00	\$7.116.00	\$2,800.00	\$8.400.00 \$	3,000.00	\$9.000.00
39 PAINT LINE	1,400	LF	\$1.66	\$2,324.00	\$0.75	\$1,050.00	\$1.68	\$2,352.00	\$1.60	\$2,240.00 \$	6.00	\$8,400.00
40 SHARED LANE MARKING	9	EA	\$221.00	\$1,989.00	\$350.00	\$3,150.00	\$224.50	\$2,020.50	\$215.00	\$1,935.00 \$	600.00	\$5,400.00
-	1,400	LF	\$0.50	\$700.00	\$0.50	\$700.00	\$0.95	\$1,330.00	\$2.00	\$2,800.00 \$	0.75	\$1,050.00
	9	EA	\$12.00	\$108.00	\$10.00	\$90.00	\$26.00	\$234.00	\$10.00	\$90.00 \$	25.00	\$225.00
43 RESOLUTION OF UTILITY CONFLICTS	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		\$2,500.00	\$2,500.00	\$2,500.00 \$	2,500.00	\$2,500.00
44 PAVEMENT REPAIR EXCAVATION INCL. HAUL	250	CY	\$170.00	\$42,500.00	\$185.00	\$46,250.00	\$240.00	\$60,000.00	\$275.00	\$68,750.00 \$	170.00	\$42,500.00
SCHEDULE - SCARBOROUGH - SUBTOTAL				\$967,058.00		\$1,073,135.00		\$997,163.00		\$973,666.00		\$957,625.00
SCHEDULE - EMBERWOOD												
1 MINOR CHANGE	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2 ADA FEATURES SURVEYING	1	LS	\$5,600.00	\$5,600.00	\$5,100.00	\$5,100.00	\$5,692.00	\$5,692.00	\$5,200.00	\$5,200.00	\$4,000.00	\$4,000.00
3 ROADWAY SURVEYING	1	LS	\$3,275.00	\$3,275.00	\$3,000.00	\$3,000.00	\$3,315.00	\$3,315.00	\$9,000.00	\$9,000.00	\$3,000.00	\$3,000.00
4 MATERIAL TESTING	1	LS	\$13,200.00	\$13,200.00	\$7,000.00	\$7,000.00	\$2,856.00	\$2,856.00	\$7,600.00	\$7,600.00	\$3,000.00	\$3,000.00
5 SPCC PLAN	1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$315.00	\$315.00	\$300.00	\$300.00	\$250.00	\$250.00
6 MOBILIZATION	1	LS	\$24,000.00	\$24,000.00	\$25,000.00	\$25,000.00	\$41,000.00	\$41,000.00	\$26,000.00	\$26,000.00	\$76,119.66	\$76,119.66
7 TRAFFIC CONTROL SUPERVISOR	1	LS	\$7,400.00	\$7,400.00	\$16,000.00	\$16,000.00	\$25,072.00	\$25,072.00	\$16,000.00	\$16,000.00	\$14,400.00	\$14,400.00
8 FLAGGERS	470	HR	\$78.00	\$36,660.00	\$85.00	\$39,950.00	\$72.00	\$33,840.00	\$74.00	\$34,780.00	\$73.01	\$34,314.70
9 OTHER TRAFFIC CONTROL LABOR	50	HR	\$78.00	\$3,900.00	\$85.00	\$4,250.00	\$74.00	\$3,700.00	\$79.00	\$3,950.00	\$75.86	\$3,793.00
10 PORTABLE CHANGEABLE MESSAGE SIGN	315	HR	\$5.00	\$1,575.00	\$6.00	\$1,890.00	\$5.35	\$1,685.25	\$5.00	\$1,575.00	\$5.38	\$1,694.70
11 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	\$6,000.00	\$6,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00
12 WORK ZONE SAFETY CONTINGENCY	1	FA	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00
13 ROADSIDE CLEANUP	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,666.67	\$2,666.67
14 SAWCUTTING	850	LF	\$7.70	\$6,545.00	\$7.00	\$5,950.00	\$0.01	\$8.50	\$2.75	\$2,337.50	\$4.98	\$4,233.00
15 ROADWAY EXCAVATION INCL. HAUL	150	CY	\$393.00	\$58,950.00	\$600.00	\$90,000.00	\$439.00	\$65,850.00	\$50.00	\$7,500.00	\$468.11	\$70,216.50
16 CRUSHED SURFACING TOP COURSE	45	TN	\$105.00	\$4,725.00	\$125.00	\$5,625.00	\$46.00	\$2,070.00	\$45.00	\$2,025.00	\$112.00	\$5,040.00
17 HMA CL. 1/2 IN. PG 58H-22	1.700	TN	\$114.00	\$193,800.00	\$120.00	\$204,000.00	\$118.50	\$201,450.00	\$112.00	\$190,400.00	\$130.88	\$222,496.00
18 PLANING BITUMINOUS PAVEMENT	9,600	SY	\$5.10	\$48,960.00	\$5.00	\$48,000.00	\$4.31	\$41,376.00	\$3.50	\$33,600.00	\$5.50	\$52,800.00
19 PAVEMENT REPAIR EXCAVATION INCL. HAUL	250	CY	\$140.00	\$35,000.00	\$185.00	\$46,250.00	\$303.00	\$75,750.00	\$315.00	\$78,750.00	\$260.00	\$65,000.00
20 HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 58H-22	475	TN	\$171.00	\$81,225.00	\$150.00	\$71,250.00	\$212.00	\$100,700.00	\$239.00	\$113,525.00	\$180.00	\$85,500.00
21 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	6	SY	\$6,400.00	\$38,400.00	\$6,000.00	\$36,000.00	\$6,067.00	\$36,402.00	\$6,000.00	\$36,000.00	\$5,500.00	\$33,000.00
22 ADJUST SANITARY SEWER MANHOLE	11	EA	\$775.00	\$8,525.00	\$675.00	\$7,425.00	\$1,266.00	\$13,926.00	\$575.00	\$6,325.00	\$1,200.00	\$13,200.00
23 EROSION CONTROL AND WATER POLLUTION PREVENTION	1	FA	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
24 PROPERTY RESTORATION	1	LS	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
25 SOD INSTALLATION	70	SY	\$30.40	\$2,128.00	\$110.00	\$7,700.00	\$35.00	\$2,450.00	\$68.00	\$4,760.00	\$190.00	\$13,300.00
	/ ()					\$500.00	\$45.00	\$2,250.00	\$260.00	\$13,000.00	\$50.00	\$2,500.00
26 TOPSOIL TYPE 3-WAY MIX		SY	\$31.40	\$1.570.001	\$10.00							
26 TOPSOIL TYPE 3-WAY MIX 27 CEMENT CONC. TRAFFIC CURB AND GUTTER	50	SY	\$31.40 \$36.00	\$1,570.00 \$30,600.00	\$10.00 \$36.00							\$37,400,00
27 CEMENT CONC. TRAFFIC CURB AND GUTTER	50 850	LF	\$36.00	\$30,600.00	\$36.00	\$30,600.00	\$36.00	\$30,600.00	\$105.00	\$89,250.00	\$44.00	
27 CEMENT CONC. TRAFFIC CURB AND GUTTER 28 CEMENT CONC. PEDESTRIAN CURB	50 850 425	LF LF	\$36.00 \$31.00	\$30,600.00 \$13,175.00	\$36.00 \$32.00	\$30,600.00 \$13,600.00	\$36.00 \$31.50	\$30,600.00 \$13,387.50	\$105.00 \$72.00	\$89,250.00 \$30,600.00	\$44.00 \$40.00	\$17,000.00
27 CEMENT CONC. TRAFFIC CURB AND GUTTER 28 CEMENT CONC. PEDESTRIAN CURB 29 MONUMENT CASE AND COVER	50 850 425 3	LF LF EA	\$36.00 \$31.00 \$1,180.00	\$30,600.00 \$13,175.00 \$3,540.00	\$36.00 \$32.00 \$675.00	\$30,600.00 \$13,600.00 \$2,025.00	\$36.00 \$31.50 \$663.00	\$30,600.00 \$13,387.50 \$1,989.00	\$105.00 \$72.00 \$700.00	\$89,250.00 \$30,600.00 \$2,100.00	\$44.00 \$40.00 \$2,000.00	\$17,000.00 \$6,000.00
27 CEMENT CONC. TRAFFIC CURB AND GUTTER 28 CEMENT CONC. PEDESTRIAN CURB 29 MONUMENT CASE AND COVER 30 ADJUST MONUMENT CASE AND COVER	50 850 425 3 10	LF LF EA	\$36.00 \$31.00 \$1,180.00 \$1,025.00	\$30,600.00 \$13,175.00 \$3,540.00 \$10,250.00	\$36.00 \$32.00 \$675.00 \$905.00	\$30,600.00 \$13,600.00 \$2,025.00 \$9,050.00	\$36.00 \$31.50 \$663.00 \$1,603.00	\$30,600.00 \$13,387.50 \$1,989.00 \$16,030.00	\$105.00 \$72.00 \$700.00 \$575.00	\$89,250.00 \$30,600.00 \$2,100.00 \$5,750.00	\$44.00 \$40.00 \$2,000.00 \$750.00	\$17,000.00 \$6,000.00 \$7,500.00
27 CEMENT CONC. TRAFFIC CURB AND GUTTER 28 CEMENT CONC. PEDESTRIAN CURB 29 MONUMENT CASE AND COVER	50 850 425 3	LF LF EA	\$36.00 \$31.00 \$1,180.00	\$30,600.00 \$13,175.00 \$3,540.00	\$36.00 \$32.00 \$675.00	\$30,600.00 \$13,600.00 \$2,025.00	\$36.00 \$31.50 \$663.00 \$1,603.00 \$101.00	\$30,600.00 \$13,387.50 \$1,989.00	\$105.00 \$72.00 \$700.00	\$89,250.00 \$30,600.00 \$2,100.00	\$44.00 \$40.00 \$2,000.00	\$37,400.00 \$17,000.00 \$6,000.00 \$7,500.00 \$8,800.00 \$294.00

CITY OF FEDERAL WAY
Project Number: 12525
Bid Opening Date: Wednesday, February 19, 2025
PUBLIC WORKS DEPARTMENT
Project Title: 2025 ASPHALT OVERLAY
BID TABULATION

Wednesday, February 19, 2025
9:00:00 AM

BID TABULATION	_											
				d 1	Bid			Bid 3		id 4	Engineer	
	Vendor Name>			ATERIALS	LAKESIDE IN			ESOURCES		& Sons	Estin	nate
Location	>			ic, WA	Covingto			allup, Wa		ma, Wa		
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
SCHEDULE - EMBERWOOD - SUBTOTAL				\$703,802.00		\$751,065.00		\$787,228.25		\$790,502.50		\$812,368.23
COUEDINE 40TH AVE O		-							ı			
SCHEDULE - 18TH AVE S 1 MINOR CHANGE	T 1	I =	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2 ADA FEATURES SURVEYING	1 1	FA LS	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$1,625.00	\$5,000.00	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00
3 ROADWAY SURVEYING	1 1	LS	\$2,475.00	\$2,475.00	\$2,300.00	\$2,300.00	\$2,500.00	\$1,625.00		\$3,600.00	\$3,000.00	\$3,000.00
4 MATERIAL TESTING	1 1	LS	\$6.600.00	\$6,600.00	\$2,500.00	\$2,500.00	\$1,904.00	\$1,904.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00
5 SPCC PLAN	1 1	LS	\$250.00	\$250.00	\$2,500.00	\$250.00	\$315.00	\$315.00	\$300.00	\$300.00	\$250.00	\$250.00
6 MOBILIZATION	1 1	LS	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$25,650.00	\$25,650.00	\$30,000.00	\$30,000.00	\$41,678.27	\$41,678.27
7 TRAFFIC CONTROL SUPERVISOR	1 1	LS	\$9,200.00	\$9,200.00	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00
8 FLAGGERS	300	HR	\$78.00	\$23,400.00	\$85.00	\$25,500.00	\$72.00	\$21,600.00	\$74.00	\$22,200.00	\$73.01	\$21,903.00
9 OTHER TRAFFIC CONTROL LABOR	30	HR	\$78.00	\$2,340.00	\$85.00	\$2,550.00	\$74.00	\$2,220.00	\$79.00	\$2,370.00	\$73.01	\$2,190.30
10 PORTABLE CHANGEABLE MESSAGE SIGN	200	HR	\$5.00	\$1,000.00	\$6.00	\$1,200.00	\$8.45	\$1,690.00	\$5.00	\$1,000.00	\$5.38	\$1.076.00
11 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$3,500.00	\$3,500.00
12 WORK ZONE SAFETY CONTINGENCY	1	FA	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00
13 ROADSIDE CLEANUP	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
14 SAWCUTTING	240	LF	\$7.70	\$1,848.00	\$7.00	\$1,680.00	\$0.01	\$2.40	\$2.75	\$660.00	\$4.98	\$1,195.20
15 ROADWAY EXCAVATION INCL. HAUL	28	CY	\$620.00	\$17,360.00	\$800.00	\$22,400.00	\$750.00	\$21,000.00	\$55.00	\$1,540.00	\$468.11	\$13,107.08
16 CRUSHED SURFACING TOP COURSE	100	TN	\$115.00	\$11,500.00	\$100.00	\$10,000.00	\$43.00	\$4,300.00	\$39.00	\$3,900.00	\$112.00	\$11,200.00
17 HMA CL.1/2 PG 58H-22	1,000	TN	\$116.00	\$116,000.00	\$120.00	\$120,000.00	\$115.50	\$115,500.00	\$117.00	\$117,000.00	\$130.88	\$130,880.00
18 HMA FOR PRELEVELING CL.1/2 PG 58H-22	100	TN	\$141.00	\$14,100.00	\$120.00	\$12,000.00	\$112.00	\$11,200.00	\$117.00	\$11,700.00	\$150.00	\$15,000.00
19 PLANING BITUMINOUS PAVEMENT	10,000	SY	\$5.80	\$58,000.00	\$5.00	\$50,000.00	\$4.90	\$49,000.00	\$4.50	\$45,000.00	\$5.45	\$54,500.00
20 REMOVE AND REPLACE HMA SPEED HUMP, COMPLETE	6	EA	\$5,900.00	\$35,400.00	\$6,000.00	\$36,000.00	\$6,066.00	\$36,396.00	\$6,000.00	\$36,000.00	\$7,408.25	\$44,449.50
21 ADJUST MANHOLE	2	EA	\$1,250.00	\$2,500.00	\$675.00	\$1,350.00	\$1,266.00	\$2,532.00	\$575.00	\$1,150.00	\$1,197.67	\$2,395.34
22 ADJUST WATER VALVE TO GRADE	6	EA	\$930.00	\$5,580.00	\$490.00	\$2,940.00	\$942.00	\$5,652.00	\$575.00	\$3,450.00	\$945.25	\$5,671.50
23 ADJUST SANITARY SEWER MANHOLE	8	EA	\$1,250.00	\$10,000.00	\$675.00	\$5,400.00	\$1,266.00	\$10,128.00	\$575.00	\$4,600.00	\$1,197.67	\$9,581.36
24 EROSION CONTROL AND WATER POLLUTION PREVENTION	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$4,000.00	\$4,000.00	\$2,250.00	\$2,250.00
25 SEEDING, FERTILIZING, AND MULCHING	4	SY	\$19.00	\$76.00	\$50.00	\$200.00	\$251.00	\$1,004.00	\$15.00	\$60.00	\$183.75	\$735.00
26 BARK OR WOOD CHIP MULCH	4	SY	\$14.50	\$58.00	\$50.00	\$200.00	\$251.00	\$1,004.00	\$135.00	\$540.00	\$183.75	\$735.00
27 PROPERTY RESTORATION	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,857.14	\$1,857.14
28 CEMENT CONC. TRAFFIC CURB AND GUTTER	160	LF	\$36.00	\$5,760.00	\$36.00	\$5,760.00	\$35.85	\$5,736.00	\$135.00	\$21,600.00	\$47.38	\$7,580.80
29 CEMENT CONC. PEDESTRIAN CURB	80	LF	\$31.00	\$2,480.00	\$32.00	\$2,560.00	\$31.50	\$2,520.00	\$85.00	\$6,800.00	\$39.63	\$3,170.40
30 MONUMENT CASE AND COVER	2	EA	\$1,180.00	\$2,360.00	\$675.00	\$1,350.00	\$662.00	\$1,324.00	\$575.00	\$1,150.00	\$1,500.00	\$3,000.00
31 ADJUST MONUMENT CASE AND COVER 32 CEMENT CONC. SIDEWALK	1	EA SY	\$1,390.00 \$100.00	\$1,390.00 \$800.00	\$905.00 \$100.00	\$905.00 \$800.00	\$1,603.00 \$101.00	\$1,603.00 \$808.00	\$575.00 \$200.00	\$575.00 \$1,600.00	\$678.25	\$678.25 \$683.44
33 CEMENT CONC. SIDEWALK 33 CEMENT CONC. CURB RAMP TYPE PARALLEL	8 4	EA EA	\$2,375.00	\$9,500.00	\$100.00	\$9,800.00	\$2,372.00	\$9,488.00		\$9,600.00	\$85.43 \$2,838.88	\$11,355.52
34 PAINT LINE	88	LF	\$2,375.00	\$9,500.00	\$2,450.00	\$9,800.00	\$2,372.00	\$9,466.00 \$147.84	\$2,400.00	\$9,600.00	\$2,838.88	\$174.24
35 PLASTIC STOP LINE	32	LF	\$33.00	\$1,056.00	\$15.00	\$480.00	\$33.70	\$1,078.40	\$32.00	\$1,024.00	\$40.48	\$1,295.36
36 PLASTIC STOP LINE 36 PLASTIC CROSSWALK LINE	60	SF	\$17.10	\$1,036.00	\$10.00	\$600.00	\$17.40	\$1,076.40	\$16.50	\$990.00	\$17.38	\$1,295.30
37 PLASTIC TRAFFIC ARROW	1	EA	\$551.00	\$551.00	\$450.00	\$450.00	\$561.00	\$561.00	\$540.00	\$540.00	\$519.08	\$519.08
38 PAINTED BICYCLE LANE SYMBOL	33	EA	\$221.00	\$7,293.00	\$350.00	\$11,550.00	\$224.50	\$7,408.50	\$215.00	\$7,095.00	\$162.30	\$5,355.90
39 REMOVING PAVEMENT MARKINGS	1	LS	\$554.00	\$554.00	\$1,000.00	\$1,000.00	\$560.00	\$560.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
40 TEMPORARY PAVEMENT MARKING - SHORT DURATION	100	LF	\$0.55	\$55.00	\$0.50	\$50.00	\$4.48	\$448.00	\$15.00	\$1,500.00	\$1.98	\$198.00
41 TEMPORARY MISC. PAVEMENT MARKING - SHORT DURATION	34	EA	\$8.00	\$272.00	\$10.00	\$340.00	\$33.60	\$1,142.40	\$15.00	\$510.00	\$162.30	\$5,518.20
42 TEMPORARY STOP LINE - SHORT DURATION	32	LF SF	\$3.25 \$10.00	\$104.00 \$600.00	\$2.00 \$3.00	\$64.00 \$180.00	\$13.45	\$430.40 \$471.00	\$15.00 \$15.00	\$480.00 \$900.00	\$40.48	\$1,295.36
43 TEMPORARY CROSSWALK LINE - SHORT DURATION 44 RESOLUTION OF UTILITY CONFLICTS	60	FA FA	\$10.00	\$2,000.00	\$2.000.00	\$180.00	\$7.85 \$2.000.00	\$471.00	\$15.00	\$900.00	\$17.38 \$2.000.00	\$1,042.80 \$2,000.00
SCHEDULE - 18TH AVE S - SUBTOTAL	1 '	I-W	φ2,000.00	\$389.464.00	ψ∠,000.00	\$2,000.00 \$373,725.00	φ∠,000.00	\$2,000.00 \$384.032.94	ΨΖ,000.00	\$378.574.80	φ∠,000.00	\$2,000.00 \$456,264.84
				+++++++++++++++++++++++++++++++++++++		ţ0.0,.20.00		+00 .,002.04		+		7.00,2004
SCHEDULE - S 369TH ST						Т			<u> </u>	I		
1 MINOR CHANGE	1 1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
2 ADA FEATURES SURVEYING	1 1	LS	\$12,600.00	\$12,600.00	\$15,000.00	\$15,000.00	\$12,745.00	\$12,745.00	\$12,000.00	\$12,000.00	\$9,685.00	\$9,685.00
3 ROADWAY SURVEYING	1 1	LS	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$9,100.00	\$9,100.00		\$18,000.00	\$4,000.00	\$4,000.00
4 MATERIAL TESTING	1 1	LS	\$12,210.00	\$12,210.00	\$12,000.00	\$12,000.00	\$2,856.00	\$2,856.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
5 SPCC PLAN	1 1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$315.00	\$315.00	\$300.00	\$300.00	\$250.00	\$250.00
6 MOBILIZATION	1	LS	\$36,750.00	\$36,750.00	\$40,000.00	\$40,000.00	\$48,000.00	\$48,000.00		\$21,000.00	\$99,312.00	\$99,312.00
		•		, , , , , ,	. ,	. ,	. ,	,		. , ,-	,	. ,

CITY OF FEDERAL WAY Project Number: 12525 Bid Opening Date: Wednesday, February 19, 2025
PUBLIC WORKS DEPARTMENT Project Title: 2025 ASPHALT OVERLAY Bid Opening Time: 9:00:00 AM
BID TABULATION

Vandan Nama		Bid 1 ICON MATERIALS			Bid 2 LAKESIDE INDUSTRIES		Bid 3		3id 4	Estim	Engineer	
vendor Name Location	Vendor Name>		Pacific, WA			Covington, WA		MILES RESOURCES Puyallup, Wa		Tucci & Sons Tacoma, Wa		ate
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
7 TRAFFIC CONTROL SUPERVISOR	Amount	LS	\$19,350.00	\$19,350.00	\$40.000.00	\$40.000.00		\$32.400.00	\$29,000.00	\$29.000.00	\$20,000.00	\$20,000.0
8 FLAGGERS	475	HR	\$19,350.00	\$19,350.00	\$40,000.00	\$40,000.00	, , , , , , , , , , , , , , , , , , , ,	\$34,200.00	\$29,000.00	\$29,000.00		\$34.675.0
	50	HR	\$78.00	1 - /		, .,		\$34,200.00		, ,	\$73.00	,
9 OTHER TRAFFIC CONTROL LABOR	350	HR	\$78.00	\$3,900.00	\$85.00 \$6.00	\$4,250.00 \$2,100.00		\$3,700.00	\$79.00 \$5.00	\$3,950.00	\$76.00	\$3,800.0
10 PORTABLE CHANGEABLE MESSAGE SIGN			\$6.000.00	\$1,750.00	\$8,000.00		\$4.80	\$1,680.00	\$1,600.00	\$1,750.00	\$5.40	\$1,890.0
11 OTHER TEMPORARY TRAFFIC CONTROL DEVICES	1	LS	4 - 7	\$6,000.00		\$8,000.00		, ,	, ,	\$1,600.00	\$3,500.00	\$3,500.0
12 WORK ZONE SAFETY CONTINGENCY	1 1	FA	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.0
13 ROADSIDE CLEANUP	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.0
14 SAWCUTTING	850	LF	\$7.70	\$6,545.00	\$7.00	1 - 7	\$0.01	\$8.50	\$2.75	\$2,337.50	\$5.00	\$4,250.0
15 ROADWAY EXCAVATION INCL. HAUL	160	CY	\$525.00	\$84,000.00	\$800.00	\$128,000.00		\$116,160.00	\$71.00	\$11,360.00	\$470.00	\$75,200.0
16 CRUSHED SURFACING TOP COURSE	75	TN	\$105.00	\$7,875.00	\$115.00	\$8,625.00	\$37.50	\$2,812.50	\$39.00	\$2,925.00	\$112.00	\$8,400.0
17 HMA CL. 1/2 IN. PG 58H-22	3,000	TN	\$104.00	\$312,000.00	\$120.00	\$360,000.00		\$318,000.00	\$102.00	\$306,000.00	\$130.00	\$390,000.0
18 PLANING BITUMINOUS PAVEMENT	1,100	SY	\$14.00	\$15,400.00	\$8.00	\$8,800.00	\$12.65	\$13,915.00	\$10.00	\$11,000.00	\$5.50	\$6,050.0
19 PAVEMENT REPAIR EXCAVATION INCL. HAUL	350	CY	\$165.00	\$57,750.00	\$190.00	\$66,500.00	\$249.00	\$87,150.00	\$395.00	\$138,250.00	\$260.00	\$91,000.0
20 HMA FOR PAVEMENT REPAIR CL. 1/2 IN. PG 58H-22	175	TN	\$164.00	\$28,700.00	\$175.00	\$30,625.00	\$225.00	\$39,375.00	\$242.00	\$42,350.00	\$180.00	\$31,500.0
21 ADJUST MANHOLE	5	EA	\$940.00	\$4,700.00	\$675.00	\$3,375.00	\$1,265.00	\$6,325.00	\$575.00	\$2,875.00	\$1,800.00	\$9,000.0
22 REPLACE SOLID LOCKING RECTANGULAR FRAME AND GRATE	7	EA	\$330.00	\$2,310.00	\$1,200.00	\$8,400.00	\$1,300.00	\$9,100.00	\$575.00	\$4,025.00	\$1,200.00	\$8,400.0
23 ADJUST WATER VALVE TO GRADE	9	EA	\$930.00	\$8,370.00	\$490.00	\$4,410.00	\$942.00	\$8,478.00	\$575.00	\$5,175.00	\$960.00	\$8,640.0
24 ADJUST SANITARY SEWER MANHOLE	20	EA	\$860.00	\$17,200.00	\$675.00	\$13,500.00	\$1,267.00	\$25,340.00	\$575.00	\$11,500.00	\$1,200.00	\$24,000.0
25 EROSION CONTROL AND WATER POLLUTION PREVENTION	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$840.00	\$840.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.0
26 PROPERTY RESTORATION	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.0
27 SOD INSTALLATION	120	SY	\$30.40	\$3,648.00	\$110.00	\$13,200.00	\$33.50	\$4,020.00	\$52.00	\$6,240.00	\$190.00	\$22,800.0
28 TOPSOIL TYPE 3-WAY MIX	50	SY	\$31.40	\$1,570.00	\$10.00	\$500.00	\$40.00	\$2,000.00	\$92.00	\$4,600.00	\$50.00	\$2,500.0
29 CEMENT CONC. TRAFFIC CURB AND GUTTER	1,200	LF	\$36.00	\$43,200.00	\$36.00	\$43,200.00	\$36.00	\$43,200.00	\$123.00	\$147,600.00	\$44.00	\$52,800.0
30 CEMENT CONC. PEDESTRIAN CURB	700	LF	\$31.00	\$21,700.00	\$32.00	\$22,400.00	\$31.50	\$22,050.00	\$85.00	\$59,500.00	\$40.00	\$28,000.0
31 RAISED PAVEMENT MARKER TYPE 2	0.24	HUN	\$1,270.83	\$305.00	\$1,000.00	\$240.00	\$1,288.00	\$309.12	\$1,245.00	\$298.80	\$1,000.00	\$240.0
32 ADJUST MONUMENT CASE AND COVER	22	EA	\$985.00	\$21,670.00	\$905.00	\$19,910.00	\$1,603.00	\$35,266.00	\$575.00	\$12,650.00	\$970.00	\$21,340.0
33 CEMENT CONC. SIDEWALK	135	SY	\$100.00	\$13,500.00	\$100.00	\$13,500.00	\$101.50	\$13,702.50	\$150.00	\$20,250.00	\$90.00	\$12,150.0
34 CEMENT CONC. CURB RAMP TYPE PARALLEL	32	EA	\$2,375.00	\$76,000.00	\$2,450.00	\$78,400.00	\$2,386.00	\$76,352.00	\$2,400.00	\$76,800.00	\$2,900.00	\$92,800.0
35 PAINT LINE	425	LF	\$1.80	\$765.00	\$0.75	\$318.75	\$1.68	\$714.00	\$1.60	\$680.00	\$2.00	\$850.0
36 PLASTIC STOP LINE	30	LF	\$33.00	\$990.00	\$15.00	\$450.00	\$33.60	\$1,008.00	\$32.00	\$960.00	\$40.00	\$1,200.0
37 TEMPORARY MISC. PAVEMENT MARKING - SHORT DURATION	425	LF	\$0.50	\$212.50	\$0.50	\$212.50	\$3.35	\$1,423.75	\$11.00	\$4,675.00	\$0.25	\$106.2
38 TEMPORARY STOP LINE - SHORT DURATION	30	LF	\$6.25	\$187.50	\$2.00	\$60.00	\$29.00	\$870.00	\$11.00	\$330.00	\$20.00	\$600.0
SCHEDULE - S 369TH ST - SUBTOTAL	<u> </u>		71.20	\$886,658.00	+2.00	\$1,020,851.25		\$992,615.37	Ţ 00	\$1,025,331.30	+ =3.00	\$1,093,138.2
TOTAL	İ			\$7,184,123.00		\$7,950,536.25		\$7,721,080.91		\$7,891,064.00		\$8,104,844.6